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#include <stdio.h>
#include <stdlib.h>
#include <string.h>
#include <mem.h>

#include <conio.h>

#define putdot(x,y,c) *((char far *)0xa0000000 + (unsigned)((x) + (y)*320))=c

typedef struct DOTINFO /2 ME LIEIYsE =H =/
{

int X,y

int kKilled:

int vlink, hlink;
} DOTINFO;
#define MAXDOT 4x125 /% MAX: 500 dots (125 rectangles) */
DOTINFO dot[MAXDOT]: /x 2= OO[EIE MAZ & =/
DOTINFO cdot[MAXDOT]; /% 2H AALHEHES 0|RE 2ole IAINE MAE 2 ox/
DOTINFO ws[MAXDOT*2]; sx QUESI0 AME|et MS2 AARS S5t MEAS R =/
DOTINFO bws[MAXDOT*2]; /5 AA| XA AL x/
int visit[MAXDOT=21]: /x 2 Hg FERA| ‘'YHE" HA|E ofECI 0|2 SgE

AMZUEEO| U2d? FHEIX F=Res o7 23

ArSEICEH */



int dotidx=0;
int crsidx=0;
int wsidx=0:

void
void
void
void
void
void
void
void
void
void
void

killhiddendot(void):
killhiddencdot(void):
killsamecdot(void);
killsamewsdot(void);
findcdot(void):
makKews(void):
prepare(void):

quicksort(int, int, int);
swapdata(DOTINFO *, DOTINFO *);
link_horizontal(void):

link_vertical(void):

int findRnearest(int);
int findBnearest(int);
int bws2ws(int).

int notvisit(void):

void
void

void
void
void
void

void
{

showlist(void):
readdata(char *);

drawdatagrp(void);
drawoutgrp(void);

drawhline(int, int, int, int):
drawvline(int, int, int, int):

main(void)

char name[60];
char c:
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memset(dot, 0, sizeof (DOTINFO)=MAXDOT):
memset(cdot, 0, sizeof(DOTINFO)=*MAXDOT):;
memset(visit, O, sizeof(int)=MAXDOT=*2);

printf("Input data file name:
scanf ("%s”,

&name) ;

readdata(name);

printf(“Do you want to see the data in graphic? (y/n)\n");
c=getch():

if

(C — :y:

killhiddendot():
findcdot();
killhiddencdot():
killsamecdot():
makews():
Killsamewsdot():
prepare();

Il ¢ == "Y") drawdatagrp():



1link_horizontal();
link_vertical():

showlist();

printf(“Do you want to see the output in graphic? (y/n)\n");
c=getch():
if (¢ == "y || ¢ == "Y') drawoutgrp():

void killhiddendot()
{

int t, 1i:

for (t=0; t<dotidx; t+=4)
for (i=0; i<dotidx; i++)
{
if ((dot[t+0].y >= dot[il.y) 8&&
(dot[t+1].y <= dot[il.y) &&
(dot[t+1].x <= dot[i].x) &&
(dot[t+2].x >= dot[il.x))
if (((dot[t+0].x == dot[i].x) && (dot[t+0].y == dot[il.y)) !
((dot[t+1].x == dot[il.x) && (dotl[t+l]l.y == dotl[il.y)) 1|
((dot[t+2].x == dot[il.x) && (dot[t+2].y == dot[il.y)) i
((dot[t+3].x == dot[i].x) && (dot[t+3].y == dotl[il.y))):
else
dot[i].Killed=1:

void killhiddencdot()
{

int t, i:

for (t=0; t<dotidx: t+=4)
for (i=0; i<crsidx: i++)
if ((dot[t+0].y > cdotl[il.y) 8&&
(dot[t+1].y < cdot[il.y) &&
(dot[t+1].x < cdot[il.x) &&
(dot[t+3].x > cdot[il.x))
cdot[i].kKilled=1:

void Killsamecdot()
{

int t, i:

for (t=0; t<crsidx; t++)
for (i=t+l1. i<crsidx; i++)
if (t '= 1)
if ((cdot[t].x == cdot[il.x) &&
(cdot[t].y == cdot[il.y))
cdot[i].kKilled=1:



void killsamewsdot()
{

int t, 1i:

for (t=0: t<wsidx: t++)
for (i=t+l; idwsidx: i++)
if (t !'= 1)
if ((wsltl.x == wsl[il. x) &&
(wsltl.y == wslil.y))
ws[i]. killed=1:

void findcdot()
{

int t, 1i:

for (t=0; t<dotidx; t+=4)
for (i=0; i{dotidx; i+=4)
{
if ((dot[t+0].y > dot[i+l].y) &&
(dot[t+1].y < dot[i+l]l.y) &&
(dot[t+0].x > dot[i+1].x) &%
(dot[t+0].x < dot[i+2]1.x))
{
cdot[crsidx]. x=dot[t+0].x:
cdot[crsidx]. y=dot[i+l1].y:
crsidx++:

/7 2nd
if ((dot[t+0].y > dot[i+0].y) &&
(dot[t+1].y < dot[i+0].y) &&
(dot[t+0].x > dot[i+0].x) &&
(dot[t+0].x < dot[i+3].x))
{
cdotlcrsidx]. x=dot[t+0]. x:
cdot[crsidx]. y=dot[i+0].y:
crsidx++;

// 3rd
if ((dot[t+3].y > dotl[i+ll.y) &&
(dot[t+2].y < dot[i+ll.y) &&
(dot[t+3].%x > dot[i+1].x) &&
(dot[t+3].x < dot[i+2].x))
{
cdotlcrsidx]. x=dot[t+3]. x:
cdot[crsidx]. y=dot[i+l].y:
crsidx++;



// 4th
if ((dot[t+31.y > dot[i+0]1.y) &&
(dot[t+2].y < dot[i+0].y) &&
(dot[t+3].x > dot[i+0].x) &&
(dot[t+3].x < dot[i+3].x))
{
cdotlcrsidx]. x=dot[t+3]. x:
cdot[crsidx]. y=dot[i+0].y:
crsidx++;

void maKews()
{
int t

for (t=0: t<dotidx: t++)

if ('dot[t].Killed)

{
ws[wsidx] killed=0;
ws[wsidx] hlink=-1;
ws[wsidx]. vlink=-1;
ws[wsidx]. x=dot[t] x:
ws[wsidx]. y=dot[t].y:
wsidx++:

for (t=0; t<crsidx; t++)

if ('cdot[t].killed)

{
ws[wsidx].kKilled=0;
ws[wsidx]. hlink=-1;
ws[wsidx]. vlink=-1;
ws[wsidx]. x=cdot[t].x:
ws[wsidx]. y=cdot[t].y:
wsidx++.

void prepare()
{
int t, cnt=0:

for (t=0: t<wsidx: t++)

if ('ws[t].killed)

{
bwslent].killed=0:
bwslent]. hlink=-1:
bws[cnt]. vlink=-1;
bws[ent]. x=ws[t]. x:
bws[ent]. y=ws[tl. y:
cnt++:



wsidx=cnt.
memcpy (&ws, &bws, sizeof (DOTINFO)=*MAXDOT*2):
}

void quicksort(int left, int right, int cas)
{
int l=left, r=right+l, tmp:

if (1 <r)

{
switch(cas)
{

case 0:tmp=bws[left].x. break:
case 1:tmp=bws[left].y; break:

}
while (1)
{
switch(cas)
{
case 0:
do 1++: while (bws[1].x < tmp):
do r——: while (bwslrl.x > tmp):
break;
case 1:
do 1++: while (bws[1ll.y < tmp):
do r——: while (bws[rl.y > tmp);
break:
}
if (1 < r) swapdata(&bws[1], &bws[rl):
else break;
}

swapdata(&bws[left], &bwslrl):

quicksort(left, r-1, cas):;
quicksort(r+l, right, cas):

void swapdata(DOTINFO *a, DOTINFO *b)
{
DOTINFO c:

memcpy (&, a, sizeof (DOTINFQ)):

memcpy(a, b, sizeof (DOTINFQ));

memcpy (b, &, sizeof (DOTINFQ)):
}

void link_horizontal()



int t, np, posa, posb:

memcpy (&bws, 8&ws, sizeof (DOTINFO)=*MAXDOT*2);
quicksort(0, wsidx-1, 0):

for (t=0: t<wsidx: t++)
if (bws[t].hlink == -1)
{
np=findRnearest(t):
posa=bws2ws(t):
posb=bws2ws(np) ;

bws[t]. hlink=np:
bws[np]. hlink=t;

ws[posal. hlink=posb:
ws[posb]. hlink=posa:

int bws2ws(int bwsn)
{
int t:

for (t=0; t<wsidx:; t++)
if ((ws[t].x == bws[bwsnl.x) 8&
(ws[t].y == bws[bwsnl.y)) return t:

return -1:

int findRnearest(int num)
{
int t

for (t=0; t<wsidx:; t++)
if ((bws[tl.x > bws[numl.x) && (bws[tl.y == bws[numl.y))
return t;

return -1;

void linK_vertical()
{
int t, np, posa, posb:

memcpy (&bws, 8&ws, sizeof (DOTINFO)*MAXDOT*2):
quicksort(0, wsidx-1, 1):

for (t=0; t<wsidx: t++)
if (bws[t].vlink == -1)
{



np=findBnearest(t);
posa=bws2ws(t).
posb=bws2ws(np) ;

bws[t]. vlink=np:
bws[np]. vlink=t:

ws[posal. vlinK=posb:
ws[posb]. vlink=posa:

int findBnearest(int num)

{
int t

for (t=0; t<wsidx:; t++)
if ((bws[tl.y > bws[numl.y) && (bws[t].x == bws[numl.x))
return t.

return -1:

int notvisit()
{
int t;

for (t=0; t<wsidx:; t++)
if (visit[t] == 0) return t:

return -1:

void showlist()
{
int t, sp. cp:

printf(“SKYLINE:\n"):
while ((sp=notvisit()) !'= -1)
{
cp=sp;
while (1)
{
visitlcpl=1:
printf("X: %d, V: %d\n", wslcpl.x, wslcpl.y):
cp=wslcpl.vlink;
if (cp == sp) break:

visit[epl=1:

printf("X: %d, Y: %xd\n", wslcpl.x, wslcpl.y):
cp=wslcpl.hlink;

if (cp == sp) break:



void readdata(char *name)

{
FILE =f:
int x1,y1, x2,v2, x3,y3, x4, y4:
int status:

if ((f=fopen(name, “rt”)) == NULL)
{
printf(“File reading error.\n"):
exit(1):

while (1)
{

status=fscanf(f, "%d %d »d %d %d »d %d %d\n", &1, &yl, &x2, &y2, &x3, &y3,

if (status == EOF) break:

dot[dotidx]. x=x1: dot[dotidx]. y=y1:
dot[dotidx+1].x=x2; dot[dotidx+1].y=y2:
dot[dotidx+2].x=x3; dot[dotidx+2].y=y3:
dot[dotidx+3]1.x=x4; dot[dotidx+3].y=y4:
dotidx+=4:

fclose(f):

void drawhline(int fx, int fy, int tx, int ty)
{
int t;

if (tx < fx)
{
t=tx.
tx=fx;
fx=t.

for (t=fx; t<{=tx; t++) putdot(t, fy, 15);
}

void drawvline(int fx, int fy, int tx, int ty)

{
int t

if (ty < fy)
{
t=ty:
ty=fy.
fy=t.

&x4, &yd);



for (t=fy: t<=ty: t++) putdot(fx, t, 15):
}

void drawoutgrp()
{
int t, sp, cp, fx, fy:

asm mov ax, 13h
asm int 10h

for (t=0: t<MAXDOT*2. t++) visit[t]=0:

while ((sp=notvisit()) !'= -1)
{
cp=sp;
while (1)
{
visitlcpl=1:
fx=wslcpl. x;
fy=wslcpl.y:
cp=wslcpl.vlink;
delay(100);
drawvline(fx, fy, wslcpl.x, wslcpl.y):

if (cp == sp) break:

visit[epl=1:

fx=wslcpl. x:

fy=wslcpl.y:

cp=ws[cp]. hlink;

delay(100);

drawhline(fx, fy, wslcpl.x, wslcpl.y):

if (cp == sp) break:

getch():
asm mov ax, 3h

asm int 10h

void drawdatagrp()
{
int t:

asm mov ax, 13h
asm int 10h

for (t=0; t<dotidx: t+=4)



drawvline(dot[t].x, dot[t].y, dot[t+1].x, dot[t+l].y):
drawhline(dot[t+1].x, dot[t+1].y, dot[t+2].x, dot[t+2].y):
(
(

drawvline(dot[t+2].x, dot[t+2].y, dot[t+3].x, dot[t+3].y):
drawhline(dot[t+3].x, dot[t+3].y, dot[tl.x, dot[tl.y):

}

getch();

asm mov ax, 3h
asm int 10h



